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Solve each inequality.
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Solve each compound inequality.
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Simplify each expression.
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Solve each equation.
9) 37 —4k=3+2(7k-1)

314k =341k -2

437 = et |
e Mk
37 = gt
=k ol
3b= (8K
7y

L=k

© 2014 Kuta Software LLC. All rights reserved. Made with Infinite Algebra 1.

Name )éwa &

7/

2) 18—8n>6(4n+3)+7n

18 73T+

18~ >2dn ptf 7o =18 LA
+En +&n 27 25
)8 > 29 HE o > o N <0
4) —5n—"7(-6 —5n) > 4(8n + 3)
30 =2
-Sn 1“4,)- +35n > 32n + /2= -;:' -—-5:"'\’
Y2 4+30n > 32znt 2
e O or
i ¢ SRR T n<ls
jb Zan

6) 2<10x+2 <62

R & | Ox4 2 wxtze b
v e O Il
O® M lOx & Go
o fe /o 7o
OEx%< (,

8) 7-3(-a+4)
T+ 2% —(
3k -5

10) p—5=—(p+7)
F’g:\’),?‘



